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6. Algebra 1: Polynomial Operation

Study Guide
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Part |: Multiple Choice:(Justify your answer to eam credit)
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1.1. Find the sum between 3x% — 4x — 3 and
2x% + 5x — 1 and state the degree.
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2. The difference between 2x2 + 4x and —7x2 —4x
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3. Which expression is equivalent to
12m® — 4m® 4+ 8m?

7lm{'}nﬂ‘—-m 12

Am (ap*-m+2.)

4. What is the product of (x + 7) (4x = 3).

AR L) Y.

5. What is the equivalent polynomial to the following
factored expression:
(x =

42
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Y= gx 1

6. A construction company is planning to pour
concrete for a driveway. The length of the driveway
is 10 feet longer than its width w. Write an
expression for the area of the driveway.

A= w(wti) oW

7. Which of the following polynomials is prim
{cannot be factored)? SHOW™ %’Mﬂ

A xZ—10x-24
B. 2x%—14x + 24
C. 5x*—14x+8

| D 3x*—9x+ lDl

GD/W hol

8. Xantell is carpeting a rectangular room that has an
area of x* — 25ft* _ If the width of the room isx - 5 ft,
what is the length of the room?

L: Xt5

G Eactor the pc:nlync:mia(gxﬂ“ ~18x2{(5x - 'IC’ by
T o) £ i
A (X-2) t5(r2)

(IN*+5) (*-2)

10. Factor the following polynomial x® + 8x% + 15x

completel
C’)(l’rgX 115) \Y

X xt5) (x43) ®
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Part Il Performance Task

Directions: Farmer Bob is planting a garden this spring. He wants to plant squash, pumpkins, comn, beans and
potatoes. His plan for the field layout in feet is shown in the figure below. Use the figure and your knowledge of
polynomials, perimeter and area to solve the following.

¥ bix xy =1
N
v dx Squash
Eeans wy + 1
Com
We——r—[

& 5x -2 Pumpkins
= Potatoes x+6

S+ 2 -0 r-Tr+12 )

le me 0F imial

expression that represents the\north side of the field.

Pf%fé?«%x%—l

2. Writea leynnmial eXpression thEIt. represents the pernmeter of the squash field. Simplify the polynomial
expression that represents the perimeter of the squash field.

/05 = 2[-%26&)1 — ‘l s
5?6’1:3%“(%6) ? 3 8X

3. Write a polynomial expression that represents the area of the pumpkin field. Simplify the poalynomial
expression that represents the area of the pumpkin field.

51| 251 H:)L A(ywpkm - CQ 53421 ‘f

- |7y -y

4. Write and simplify the polynomial expression that represents the area of the squash field if x = 2 and
y = 5. What unit would the area of Bob's squash field have?

AE@UAQ_H,’ LW
[ A= g'“/sé
A=z 5.4l
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